B C D E F G _ B C D E F G
— : M6X20| 5pp | M6X35 m - : M6X20| 5pn | M6X35 AV
1PC| 2PCS| 4PCS| 1PC | 4PCS 1PC 1PC _ 1PC| 2PCS| 4PCS| 1PC |4PCS 1PC 1PC
I J K L M I K L M
1 m_ ]
= | [\ |=]h ; = | /I\| e s
£ 0N Msx20 | O™ = | &1 3 usx20 | O™ =
1PC | 1PC 4PCS | 4PCS | 1PC wcs | 1pe 1PC | 1PC 4PCS | 4PCS  |1PC cs | 1pC
P P
—— ! ——— Ji
e _ —
1PC 1PC A _ 1PC A
C C
B D B D
_ ] _ :ﬁu ME _ _ I _ :Nv JE
1 1 | = 1 L [ =
0 E 0 E
RV ] | A ]
w ‘HW i 1 “T‘ _ w ‘u. i 1 “_.u.‘
i i
K Kw G K KW G
H. m m _ H. m m




